GP-Performance RS Complete
Stainless/Stainless+Titanium ‘DI/IER

for KAWASAKI Ninja400(14-) M%
Part Number:25-721-01
JMCA No:JMCA2114014052 25.721-01/201403A

Part /QT Part /QT

Silencer F 1 Spring 6

Silencer R 1 M8*20 Bolt Cap 3

Exhaust Pipe 1 M8 Locking Nut 2

Tail Pipe 1 M8 Washer 5

Silencer Bracket F 1 M8 Spring Washer 1

Silencer Bracket R 1 1

D3 Silencer Band 1 1
Rubber 1




o, o
@ ((((({(((@
NGl
A\ ‘@ //’ \\\

'DI/IER 513-0836
,ﬂaﬂ‘/’% tel 059-379-0037 fax 059-378-4253

E-mail shop@over.co.jp Website http://www.over.co.jp
25-721-01/201403A-2



